Forces at a constant velocity
1. What pushing force must the man apply to keep the block moving at a constant velocity up the hill.


Find the normal force.


Find the weight of the block.


The mass of the block is 70 kg and the frictional force is 20 N.
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2. If T1 has a force of 100N and T2 has force of 81.5N, what is the mass of the hanging block?


(block is at rest)
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3. Find the mass of block A if T2=T3 = 500N.







T2

T3







50°

10kg





       T1






A
4. If the system is at rest, and there is no friction, find the weight of block B (mass of block A = 45kg).
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5. The pulling force is 600 N causing the block to move at a constant velocity of 5.5 m/s.  What is the mass of the block assuming there is no friction?
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